QDFill in the following BLANKS [17]

1. The basic principle which describe how magnetic fields are used
and related to motor action is| ~FEFX when « co: W Carvenl
es i},

WAL o\ A maquebic ool tnen meckamicd
-2, Counterpart of electrical resistance in magnetic circuit is [ ¥e LM
- 3. The extra area of an air gap in magnetic circuit is called [Frivagg %
4. The region between unsaturated and saturated is called [ Kpee Yegio
— 3. The shape ¢f the curve between p, and H is as follows B - & H

6. The type of core losses_
reduced by means of [ Hawival : WP AN TR
7. Flux Linkage is [ +ke £lux Pk ’Erumas I e e.f”.; T Furng W8 et mars
~ 8. Transformers which are used in measurement are called [‘\Cé(#ﬁﬁﬂ&"f
9. The type of transformer which has single rectangular core is [ Cove TAP®

10. The reactance of transformer primary circgi)thi_s%u}eaL to
X C\~/@

represent [+eskEae leacltage Flax on the @0
& 9] shape.

— 11. The magnetization current of transformer has [%
12. The type of test used to determine excitation current is{ ©pen circe.
et does not

13. In per-unit system the base value of [ app~ve-l-

change at every [ «\De @ed ] in the system. :
_ 14. Negative regulation of a transformer occurs when [ sy & ke &?fx‘ﬁ"ﬁ"
15. Inrush current is minimum when [ Mo ewase’ <Y H o indach]

Q2) A series magnetic circuit consists of a ferromagnetic core and an air

gap which has the same area as the core and equal 12.6 cm”.If the
ollowings are given: applied mmf{=240.8 At, core's reluctance equal
al 0.00063 wb, find air gap length.  [10]
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Q4) A 5000 kVA (115/13.8) kV transforr impedar
Z=0.014j 005 based on) the m-f§£§ lg::'f’nl;J Sv: el
If the'terizfuqal voltage on the secondary is 13.8 kV and the power
§Ep1:{hed 15 4000 kW at 0.8 pf lagging, then bﬁwing the equivalent
circutt using ACTUAL values and referred to the secondary, evaluate:

a-Voltage regulation.
b-Efficiency. E]O :
%-b - Secok VP
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